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TEKS
AR.2B Classify a func-
tion as linear, quadratic, 
cubic, and exponential 
when a function is repre-
������ȱ��������¢ȱ�����ȱę-
����ȱ��ě�������ȱ��ȱ������ȱ
ratios as appropriate.

AR.2D Determine 
a function that models 
real-world data and math-
ematical contexts using 
ę����ȱ��ě�������ȱ����ȱ��ȱ
the age of a tree and its 
�������������ǰȱę��������ȱ
numbers, average velocity, 
and average acceleration.

MATHEMATICAL 
PROCESS SPOTLIGHT
AR.1A Apply mathe-
matics to problems arising 
in everyday life, society, 
and the workplace.

ELPS
5B Write using 
newly acquired basic vo-
cabulary and content-based 
grade-level vocabulary.

VOCABULARY
exponential function, com-
mon ratios, exponential 
decay, exponential growth

MATERIALS
• 1 ball for each student 

group (variety of balls, 
such as soccer balls, 
basketballs, tennis 
balls, and racquetballs, 
keeping in mind that 
not all balls will bounce 
on carpet)

• 2 meter sticks per stu-
dent group

• masking tapeENAGE ANSWER:
��������ȱ������
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FOCUSING QUESTION How can you use common ratios to construct an ex-
ponential model for a data set?

LEARNING OUTCOMES
�Q �ȱ���ȱ���ȱęȱ����ȱ��ěȱ�������ȱ��ȱ������ȱ������ȱ��ȱ�������¢ȱ�ȱ��������ȱ��ȱ������ȱ���Ȭ
���ȱ��ȱ�¡���������ȱ ���ȱ�ȱ��ȱ�����ȱ�ȱ�����ȱ��ȱ������ǯ

�Q �ȱ���ȱ���ȱ������ȱ������ȱ��ȱ ����ȱ��ȱ�¡���������ȱ��������ȱ����ȱ���������ȱ�ȱ����ȱ
���ǯ

�Q �ȱ���ȱ����¢ȱ�����������ȱ��ȱ��������ȱ����ȱ�ȱ���ȱ��ȱ����¢��¢ȱ����ǰȱ��ȱ������¢ǰȱ���ȱ
��ȱ���ȱ ��������ǯ

ENGAGE
������ȱ �������ȱ �ȱ ����������ȱ ���ȱ ���ȱ ��ȱ ������ȱ �������ȱ
�����ǯȱ����ȱ ����ȱ�ȱ�����ȱ��ȱ ���ȱ������ȱ��ȱ ���ȱ����������ȱ
������ȱ����ȱ����ȱ����ǵ

See margin.

EXPLORE

���������ȱ ��ȱ �������������ȱ ����������ȱ ����������ǰȱ �ȱ ����������ȱ ������ȱ ��ȱ ��Ěȱ����ȱ
����ȱ����ȱ ���ȱ�������ȱ����ȱ�ȱ������ȱ��ȱŗǯŞȱ������ǰȱ���ȱ����ȱ������ȱ������ȱ���ȱ
�������ȱ��ȱ�ȱ������ȱ��ȱ��ȱ�����ȱŗǯŘȱ������ȱ���ȱ��ȱ����ȱ����ȱŗǯŚȱ������ǯȱ

������ȱ������ȱ��ȱ��ȱ���������ȱ������ȱ��ȱ������ȱ����ȱ����ȱ�ȱ
����ȱ����ȱ��ȱ��¢ȱ�����ȱ��ȱ�������¢ȱ��Ěȱ����ȱ��ȱ��ȱ���ȱ ���ȱ���ǯȱ

DIRECTIONS
�Q ����ȱ� �ȱ�����ȱ������ȱ��ȱ���ȱ ���ȱ���ȱ���ȱ����ȱ��ȱ���Ȭ
����ȱ���ȱ������ȱ������ǰȱ��ȱ���ȱ������ȱ��ȱ ����ȱ���ȱ����ȱ
�������ǰȱ ���ȱ�������ȱ����ȱ�ȱ�����ȱ������ǯ

�Q �����ȱ ���ȱŗŞŖȱ�����������ǯȱ������ȱ�ȱ����ȱ��ȱ���ȱ����ǰȱ����ȱ
��ȱ���ȱ�������ȱ�����ȱ��ȱ���ȱ���ȱ��ȱ���ȱ����ǰȱ��ȱ���ȱ��ȱ�ȱ
����������ȱ���������ȱ�����ǯȱ����ȱ���ȱ����ȱ����ȱ����ȱ������ȱ
���ȱ������ȱ���ȱ������ȱ��ȱ���ȱęȱ���ȱ������ǯȱ

�Q ������ȱ���ȱ� �ȱ����ȱ������ȱ���ȱ���������ȱ���ȱ�������ȱ
������ȱ������ȱ���ȱ�ȱ����ȱ����ȱŗŞŖȱ�����������ǯ

1.5 Modeling with Exponential 
Functions
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STRATEGIES FOR 
SUCCESS
It is always best to have 
students collect data on 
their own. However, if it is 
not possible to collect data 
for this activity, provide 
students with the sample 
data so that they can use 
it to answer the questions 
with this activity.

�������ȱ��ě�����ȱ�������ȱ
������ȱ ���ȱ��ě�����ȱ�����ǲȱ
e.g., basketballs, racquet-
balls, tennis balls (only if 
����ȱ��ȱ����ȱĚ����Ǽǰȱ����ȱ
balls, etc. Each type of ball 
 ���ȱ��������ȱ�ȱ��ě�����ȱ
model. After the activity, 
discuss with students why 
���ȱ������ȱ���ȱ��ě�����ȱ
and how the parameters a 
and bȱ������ȱ ���ȱ��ě�����ȱ
types of balls.

TECHNOLOGY 
INTEGRATION
Motion detectors and 
calculators can be used 
to capture and graph the 
height of a ball as it bounc-
es in real time. You can use 
a motion detector to record 
the height versus time of a 
series of bounces, and then 
use the graph and trace 
features of the calculator 
to determine the height 
��ȱ����ȱ��ȱ���ȱę���ȱśȱ��ȱŜȱ
bounces and use that data 
to complete the activity.

2.

���ȱ����ȱ��ȱ���ȱ������ȱ��ȱ��ȱ������ȱ�����ȱ���ȱę����ȱ��ě�������ȱ���ȱ
���ȱ��������ǯ

BOUNCE
NUMBER

0 1 2 3 4 5 6

AVERAGE
BOUNCE
HEIGHT 

(CM)

180 135 100 75 55 40 30

Ƹŗ Ƹŗ Ƹŗ Ƹŗ Ƹŗ Ƹŗ

-45 -35 -25 -20 -15 -10
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�Q ���ȱ���ȱ�������ȱ������ȱ������ȱ��ȱ���ȱ��������ȱ�����ȱ���ȱ���ȱ������ȱ������ǯȱ������ȱ
���ȱ������ȱ������ȱ ���ȱ���ȱ����ȱ��ȱ��������ȱ����ȱ����ȱ����ȱ������ȱ���ȱ�����ȱ������ǯȱ
���������ȱ���ȱ�������ȱ������ȱ������ǯ

�Q ������ȱ���ȱ�ȱ�����ȱ��ȱŜȱ�������ǯ
�Q ������ȱ¢���ȱ�����������ȱ��ȱ�ȱ�����ȱ����ȱ���ȱ���ȱ��� �ǯ

Sample data:

DROP 
HEIGHT 

(CM)

BOUNCE 
HEIGHT 1 

(CM)

BOUNCE 
HEIGHT 2 

(CM)

BOUNCE 
HEIGHT 3 

(CM)

AVERAGE 
BOUNCE 
HEIGHT 

(CM)

180 135 130 140 135

135 95 105 100 100

100 70 70 85 75

75 50 55 60 55

55 45 35 40 40

40 30 25 35 30

1. ��ȱ¢��ȱ ���ȱ��ȱ����ȱ���ȱ����ȱ����ȱ���ȱ���ȱ��ȱ��������ȱ��������ȱ�����ȱ��ȱ�������ǰȱ
�ȱ������ȱ������ȱ����ȱ�����ȱ��ȱ���ȱ����ȱ�����ȱ����ȱ����ȱ���ȱęȱ����ȱ��� �ǯȱ���ȱ��ȱ
�������ȱ����ȱǻ������ȱ������ǰȱ������ȱ��ȱ������Ǽȱ��ȱ�����ȱ����ȱ�����ȱ��� �ȱ��ȱ
���ȱ�����ǯ

2. ���������ȱ���ȱęȱ����ȱ��ěȱ�������ȱ��� ���ȱ���ȱ������ȱ������ȱ���ȱ���ȱ�������ȱ
������ȱ������ǯȱ��ȱ���ȱ����ȱ������ȱ��ȱ��ȱ������ǵȱ
� ȱ��ȱ¢��ȱ��� ǵ
See margin.

3. ���������ȱ���ȱ������ȱ��� ���ȱ���ȱ�������ȱ������ȱ�������ȱ���ȱ����������ȱ�������ǯȱ
��ȱ���ȱ����ȱ������ȱ��ȱ��ȱ�¡���������ǵȱ
� ȱ��ȱ¢��ȱ��� ǵ
See margin.

4. ����ȱ��ȱ���ȱ��������ȱ�����ǰȱ��ȱyȬ���������ǰȱ��ȱ���ȱ����ǵȱ
The starting point is 180 centimeters.

HT(CM)
(0, 180)

(1, 13
5)

(2, 100)

(3, 75)

(4, 55)
(5, 40)

(6, 30)
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3.

���ȱ����ȱ������ȱ��ȱ��ȱ�¡���������ȱ�����ȱ���ȱ����������ȱ������ȱ���ȱ
���¢ȱ�����ȱ��ȱ�ȱ��������ȱ��ȱŖǯŝśǯ

BOUNCE
NUMBER

0 1 2 3 4 5 6

AVERAGE
BOUNCE
HEIGHT 

(CM)

180 135 100 75 55 40 30

Ƹŗ Ƹŗ Ƹŗ Ƹŗ Ƹŗ Ƹŗ

6. ���ȱ¢Ȭ���������ǰȱŗŞŖȱ
�����������ǰȱ����������ȱ���ȱ
height of the ball when it 
 ��ȱę���ȱ�������ǯ

 ���ȱ����ǰȱŖǯŝśȱ��ȱŝśƖǰȱ
means that the ball will 
������ȱ����ȱŝśƖȱ��ȱ���ȱ
������ȱ��ȱ���ȱ��������ȱ
������ǯ

9. ��� ���ȱ��¢ȱ���¢ȱ��-
�������ȱ��ȱ���ȱ����ȱ����ȱ
���ȱ���ȱ����ȱ���������ǯȱ
���ȱ�ȱ����������ȱ ���ȱ���ȱ
������ȱ����Ǳ

 �ǻŝǼȱƽȱŗŞŖǻŖǯŝśǼ7ȱƿȱŘŚȱ���-
timeters, so the 7th bounce 
will be the same height as 
the diameter of the ball, 
and should be the last 
ȃ������Ȅȱ����ȱ��ȱ��������ǯ

REFLECT ANSWERS:
���ȱ��ȱ�������ȱ�����ȱ��ȱ���ȱ
common ratios as the base of an 
�¡���������ȱ��������ȱ�����ǯ

����ȱ�ȱ�����ȱ��ȱ���ȱ�¡���������ȱ
function and then locate the 
�������ȱ����ȱ�����ȱ���ȱ�����ȱ
����ȱ��������ȱ���ȱ�����ȱ��ȱ���ȱ
���������ȱ��������ǰȱ������¢ȱ¢ǯȱ
The x-coordinate of this ordered 
����ȱ��ȱ���ȱ�����ȱ��ȱ���ȱ����-
�������ȱ��������ȱ����ȱ���������ȱ
����ȱ¢Ȭ�����ǯ

135 ŗŞŖ ƽȱŖǯŝś
100 135 ƿȱŖǯŝŚ

75 100 ƽȱŖǯŝś
55 75 ƿȱŖǯŝř 40 55 ƿȱŖǯŝř 30 40 ƽȱŖǯŝś
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5. ���ȱ������ȱ���ȱę����ȱ��ě�������ȱ��ȱ������ȱ������ȱ��ȱ���������ȱ�ȱ��������ȱ����ȱ
����ȱ������ȱ���ȱ������������ȱ��� ���ȱ���ȱ������ȱ������ǰȱxǰȱ���ȱ���ȱ�������ȱ
������ȱ������ǰȱf(xǼǯȱ��ȱ��ȱ��ȱ�ȱ������ȱ��������ǰȱ���ȱ�����Ȭ���������ȱ����ǯȱ��ȱ��ȱ��ȱ��ȱ
�¡���������ȱ��������ǰȱ���ȱ���ȱ����ȱf(xǼȱƽȱabxǯ
f(x) = 180(0.75)x

6. ����ȱ��ȱ���ȱyȬ���������ȱ���ȱ������ȱ����ȱ��ȱ������ȱ��ȱ����ȱ����ȱ¢���ȱ��������ȱ
����ȱ����ȱ��ȱ���ȱ�����¡�ȱ��ȱ����ȱ���������ǵ
See margin.

7. ���ȱ¢���ȱ�����ȱ��ȱ�������ȱ���ȱ������ȱ��ȱ���ȱŞ��ȱ������ǯ
Answer using sample data:
f(8) = 180(0.75)8�Ā����HJSYNRJYJWX

8. ����ȱ��ȱ���ȱ��������ȱ��ȱ���ȱ����ȱ����ȱ¢��ȱ����ǵȱǻ���ȱ��¢ȱ����ȱ��ȱ���ȱ���ȱ���-
mula CȱƽȱΔdȱ��ȱ���������ȱ���ȱ��������ȱ��ȱ���ȱ����ǯǼ
Answers may vary. A basketball has an approximate diameter of about 
24 centimeters.

9. ��������ȱ�����ȱ���ȱ��������ȱ��ȱ���ȱ����ǰȱ ���ȱ ���ȱ��ȱ���ȱ����ȱ������ȱ��������ȱ
������ȱ���ȱ����ȱ�������ȱ��ȱ�ȱ������ȱ����ȱ��ȱ����ȱ����ȱ���ȱ��������ǵ
See margin.

REFLECT

�Q How can you determine an exponential function model for a data set if 
the common ratios are not exactly the same, but are very close to each 
other?

See margin.
�Q Once you have determined your exponential function model, how can 

you use the model to determine a value of the independent variable 
that generates a particular value of the dependent variable?

See margin.

EXPLAIN

�¡���������ȱ��������ȱ������ȱ���ȱ��ȱ����ȱ��ȱ���������ȱ����ȱ��ȱ����-
��������ȱ���ȱ����Ȭ ����ȱ����ǯȱ��ȱ��ȱ�¡���������ȱ��������ȱ��ȱ�������-
���ǰȱ ����ȱ ���ȱ ��������ȱ ��ȱ ������ȱ ��ȱexponential decayȱ ��������ǰȱ
�����ȱ���ȱ������ȱ��ȱ���ȱ���������ȱ��������ǰȱf(xǼǰȱ����¢ǰȱ��ȱ������ȱ
�������ǰȱ��ȱ���ȱ������ȱ��ȱ���ȱ�����������ȱ��������ǰȱxǰȱ��������ǯȱ���ȱ
������������ȱ��� ���ȱ������ȱ������ȱ���ȱ����ȱ������ȱ ��ȱ��ȱ�¡��-
�������ȱ����¢ȱ������������ǯ

�����ȱ�¡���������ȱ ���������ȱ���ȱ ����������ȱ���ȱ���ȱ������ȱexpo-
nential growthȱ���������ǯȱ���ȱ������ȱ��ȱ���ȱ���������ȱ��������ǰȱf(xǼǰȱ��� ǰȱ��ȱ������ȱ
������ǰȱ��ȱ ���ȱ������ȱ��ȱ ���ȱ �����������ȱ��������ǰȱxǰȱ ��������ǯȱ����������ȱ��� ��ȱ ��ȱ
���������ȱ�¡���������ȱ ���ȱ���ȱ����������ȱ��ȱ�ȱ���¢ȱ��ȱ�����¢ȱ��� �ȱ��ȱ ���ȱ����ȱ
�������ȱ����ȱ¢���ǯȱ

Watch Explain and
You Try It Videos

or click here

http://cosenzaassociates.com/video/1-5
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���ȱ�¡�����ǰȱ���ȱ�����ȱ���� ȱ��� �ȱ���ȱ����������ȱ��ȱ
�¢�ȱ�����¢ǰȱ��¡��ǰȱ���ȱ�������ȱ
¢����ȱ�����ȱŗşŞśǯ

�������ȱ��ȱ�������ȱ��ȱ���ȱęȱ����ȱ��ěȱ�������ǰȱ���ȱ��ȱ�¡���������ȱ��������ǰȱ����ȱ�ȱ������ȱ
����ȱ��ȱ���ȱ����������ȱ������ǯ

ǊxȱƽȱŗȱȮȱŖȱƽȱŗ

ǊxȱƽȱŘȱȮȱŗȱƽȱŗ

ǊxȱƽȱřȱȮȱŘȱƽȱŗ

ǊxȱƽȱŚȱȮȱřȱƽȱŗ

ǊxȱƽȱśȱȮȱŚȱƽȱŗ

ǊxȱƽȱŜȱȮȱśȱƽȱŗ

5-YEAR
INTERVAL, x YEAR POPULATION, 

f(x)

 ynȱȱƽȱ ŜśǰŝŜŝȱƿȱŗǯŗŝynȬŗ     śŜǰŘŘś
 ynȱȱƽȱ ŝŞǰşśŜȱƿȱŗǯŘŖynȬŗ     ŜśǰŝŜŝ
 ynȱȱƽȱ şşǰŖŝŖȱƿȱŗǯŘśynȬŗ     ŝŞǰşśŜ
 ynȱȱƽȱ ŗŘŜǰŚŝŖȱƿȱŗǯŘŞynȬŗ     şşǰŖŝŖ
 ynȱȱƽȱ ŗśŞǰŘŞşȱƿȱŗǯŘśynȬŗ     ŗŘŜǰŚŝŖ
 ynȱȱƽȱ ŗşŝǰŘşŞȱƿȱŗǯŘśynȬŗ     ŗśŞǰŘŞş

0 1985 56,225

1 1990 65,767

2 1995 78,956

3 2000 99,070

4 2005 126,470

5 2010 158,289

6 2015 197,298

Data Source: U.S. Census Bureau and Texas Department of State Health Services

���ȱ����������ȱ������ȱ���ȱ���ȱ�����ǰȱ���ȱ���ȱ���ȱ�����ȱ��ȱ���ȱ����ȱ�����ǰȱŗǯŘśǯȱ���������ȱ
���ȱ�������ȱ�����ȱ���ȱ���ȱ����ȱ��ȱ���ȱ����ǰȱbǰȱ���ȱ���ȱ�¡���������ȱ��������ȱ�����ǯ

ŗǯŗŝȱƸȱŗǯŘŖȱƸȱŗǯŘśȱƸȱŗǯŘŞȱƸȱŗǯŘśȱƸȱŗǯŘśȱƿȱŗǯŘř
              6 

���ȱ���ȱ�������ȱ����������ȱ���ȱśȬ����ȱ��������ȱŖǰȱ ����ȱ��ȱśŜǰŘŘśǰȱ��ȱ���ȱ��������ȱ�����ǰȱ
aǰȱ��ȱ ����ȱ���ȱ��������ǰȱf(xǼȱƽȱśŜǰŘŘśǻŗǯŘřǼxǯȱ����ȱ¢��ȱ����ȱ�ȱ��������ȱ�����ǰȱ¢��ȱ���ȱ
���ȱ����ȱ�����ȱ��ȱ����ȱ�����������ǯ

f(x) = 56,225(1.23)x

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

STARTING POINT

COMMON RATIO
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QUESTIONING 
STRATEGIES
���ȱ���Ĵ������ȱ��ȱ����ȱ���ȱ
graphed function rule are 
shown to the left. 

• When looking at the 
two together, how 
do you know that the 
graph is a good repre-
���������ȱ��ȱ���ȱ����ǵ

• Which point(s) from 
the data are included in 
���ȱ�����ǵȱǻ������ȱ���ȱ
students to mention the 
y-intercept.) 

• Why is the y-intercept 
an exact point both 
from the data and func-
����ǵ
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����ȱ�ȱ���Ĵȱ������ȱ��ȱ���ȱ����ȱ���ȱ�����ȱ���ȱ��������ȱ����ȱ����ȱ���ȱ���Ĵȱ������ǯ

������ȱ����ȱ���ȱ���ȱ��ȱ���ȱ����ȱ������ȱ
���ȱ ��ȱ ���ȱ �����ȱ ������������ȱ ���ȱ
��������ȱ �����ǯȱ ����ȱ ��ȱ �������ȱ
���ȱ����������ȱ������ȱ���ȱ���ȱ�¡����¢ȱ
�����ǰȱ���ȱ���ȱ�����ȱ��ȱŗǯŘřǯȱ

��������¢ȱ �������ȱ ����ȱ ��ȱ ��� ȱ
�� ȱ ���¢ȱ ������ȱ  ���ȱ ����ȱ ��ȱ ���ȱ
community in order to decide 
�� ȱ���¢ȱęȱ��ȱ��������ǰȱ �������ǰȱ��ȱ
�����������ȱ��ȱ�����ǯȱ������������ǰȱ
��ȱ ������ȱ  ��ȱ ����¢ȱ ����������ȱ
������ǰȱ ���ȱ ����������ȱ������ȱ ����ȱ
����ȱ���ȱ ��ȱ����ȱ�����������ȱ�����ȱ
�� ȱ���¢ȱ������ȱ ���ȱ����ȱ��ȱ�ȱ���Ȭ
�����¢ȱ ��ȱ �ȱ ����������ȱ ¢���ǯȱ ���Ȭ
�����¢ȱ���ȱ��������ȱ�������ȱ���¢ȱ��ȱ
������������ȱ��ȱ�����ȱ��ȱ����ȱ����ȱ
����ȱ��Ĵȱ��ȱ���������ȱ���ȱ������ȱ���Ȭ
���ȱ��ȱ�ȱ����������ȱ��������¢ǯ

�ȱ�����ȱ�����ȱ ¢��ȱ ��ȱ �������£�ȱ ���ȱ
����ȱ ��ȱ �����ȱ ��ȱ ����ȱ �����������ǯȱ
���ȱ �¡�����ǰȱ ��������ȱ ŝȱ ����������ȱ �����ȱ śȬ¢���ȱ ���������ǰȱ ��ȱ řśȱ ¢����ǰȱ �����ȱ ŗşŞśǯȱ
ŗşŞśȱƸȱřśȱƽȱŘŖŘŖǯȱ���ȱ����������ȱ�����ȱ��������ȱ���ȱ�����ȱǻŝǰ ȱŘŚŖǰŖŖŖǼȱ ����ȱ�����ȱ����ȱ
��ȱ��������ȱŝǰȱ��ȱ���ȱ¢���ȱŘŖŘŖǰȱ���ȱ����������ȱ��ȱ
�¢�ȱ�����¢ǰȱ��¡��ǰȱ�����ȱ��ȱŘŚŖǰŖŖŖǯ

MODELING WITH EXPONENTIAL FUNCTIONS

Real-world data rarely follows exact patterns, but you 
can use patterns in data to look for trends. If the data 
increases or decreases with approximately the same 
ratio, then an exponential function model may be ap-
propriate for the data set.

��ȱ������ǰȱ���ȱ���ȱ�¡���������ȱ�������������ȱ�������ȱ��� ��ǯȱ����������ȱ������������ȱ
��ȱ�ȱ����ȱ��ȱ���ȱ�����ȱ��ȱ��ȱ����������ȱ����ȱ����ǯȱ��ȱ���ȱ�����ȱ��ȱ��ȱ����������ȱ�����ȱ�ȱ
�������ȱ��ȱ���ȱ�����ȱ����ȱ¢���ǰȱ����ȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ����¢ǯȱ

POPULATION OF HAYS COUNTY, TEXAS

5-YEAR INTERVALS SINCE 1985

P
O

P
U

LA
T

IO
N
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ADDITIONAL EXAMPLE
The average salary, in millions of dollars, for 
professional players on a national sports team is 
shown in the table below. Use the data set to de-
termine if the relationship is linear or exponential. 

�¡���������

Encourage students to follow the steps from Ex-
ample 1 to complete the additional example.

5-YEAR  
INTERVAL, x YEAR

SALARY 
(MILLIONS OF 
DOLLARS), f(x)

0 1995 1.89

1 2000 2.4

2 2005 2.88

3 2010 3.8

4 2015 4.38

58 c h a p t e R  1 :  a l g e B R a i c  pat t e R n s

EXAMPLE 1
�����¡�����ȱ ���������ȱ ������ǰȱ ��ȱ���������ȱ ���ȱ ����ǰȱ ����ȱ ���ȱ ���������ȱ �������ȱ
�� ��ȱ�����ȱ����ȱ������ǰȱ�����ȱ���ȱ��� �ȱ��ȱ���ȱ�����ȱ���� ǯ

4-DAY 
INTERVAL, x DATE RADIATION 

LEVEL, f(x)

0 MARCH 22, 2011 71.2

1 MARCH 26, 2011 39.8

2 MARCH 30, 2011 22.3

3 APRIL 3, 2011 12.5

4 APRIL 7, 2011 7.1

5 APRIL 11, 2011 3.9

6 APRIL 15, 2011 2.2

Data Source: U.S. Department of Energy

���ȱ���ȱ����ȱ���ȱ��ȱ���������ȱ��ȱ���ȱ������������ȱ��ȱ������ȱ��ȱ�¡���������ǯ

 STEP 1� )JYJWRNSJ�YMJ�ąSNYJ�INKKJWJSHJX�NS�[FQZJX�TK�x�FSI�[FQZJX�TK�f(x).

ǊxȱƽȱŗȱȮȱŖȱƽȱŗ

ǊxȱƽȱŘȱȮȱŗȱƽȱŗ

ǊxȱƽȱřȱȮȱŘȱƽȱŗ

ǊxȱƽȱŚȱȮȱřȱƽȱŗ

ǊxȱƽȱśȱȮȱŚȱƽȱŗ

ǊxȱƽȱŜȱȮȱśȱƽȱŗ

4-DAY 
INTERVAL, x DATE RADIATION 

LEVEL, f(x)

Ǌf(x)ȱƽȱřşǯŞȱȮȱŝŗǯŘȱƽȱȱȮřŗǯŚȱ

Ǌf(x)ȱƽȱŘŘǯřȱȮȱřşǯŞȱƽȱȱȮŗŝǯśȱ

Ǌf(x)ȱƽȱŗŘǯśȱȮȱŘŘǯřȱƽȱȱȮşǯŞȱ

Ǌf(x)ȱƽȱŝǯŗȱȮȱŗŘǯśȱƽȱȱȮśǯŚȱ

Ǌf(x)ȱƽȱřǯşȱȮȱŝǯŗȱƽȱȱȮřǯŘȱ

Ǌf(x)ȱƽȱŘǯŘȱȮȱřǯşȱƽȱȱȮŗǯŝȱ

0 MARCH 22, 2011 71.2

1 MARCH 26, 2011 39.8

2 MARCH 30, 2011 22.3

3 APRIL 3, 2011 12.5

4 APRIL 7, 2011 7.1

5 APRIL 11, 2011 3.9

6 APRIL 15, 2011 2.2
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ADDITIONAL EXAMPLE
Students in a Biology class were studying how water evaporates over time. They mea-
sured the volume of the water in milliliters each day and recorded the data shown 
below. Determine if the relationship is linear or exponential.

�¡���������

������ȱ��������ȱ����ȱ���ȱę���ȱ����ȱ��ȱ��ȱ�����ȱ���ȱę����ȱ��ě�������ȱ���ȱ����ȱ�����ȱ������ȱ
��ȱ���ȱę����ȱ��ě�������ȱ���ȱ���ȱ��������ǯ

DAY, x 0 1 2 3 4

WATER LEVEL (ML), f(x) 15 13.75 12.5 11.25 10
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 STEP 2� )JYJWRNSJ�YMJ�WFYNTX�GJY\JJS�XZHHJXXN[J�[FQZJX�TK�f(x).

ǊxȱƽȱŗȱȮȱŖȱƽȱŗ

ǊxȱƽȱŘȱȮȱŗȱƽȱŗ

ǊxȱƽȱřȱȮȱŘȱƽȱŗ

ǊxȱƽȱŚȱȮȱřȱƽȱŗ

ǊxȱƽȱśȱȮȱŚȱƽȱŗ

ǊxȱƽȱŜȱȮȱśȱƽȱŗ

4-DAY
INTERVAL, x DATE RADIATION 

LEVEL, f(x)

 ynȱȱƽȱ řşǯŞȱƿȱŖǯśśşynȬŗ     ŝŗǯŘ
 ynȱȱƽȱ ŘŘǯřȱƿȱŖǯśŜŖynȬŗ     řşǯŞ
 ynȱȱƽȱ ŗŘǯśȱƿȱŖǯśŜŗynȬŗ     ŘŘǯř
 ynȱȱƽȱ ȱŝǯŗȱȱƿȱŖǯśŜŞynȬŗ     ŗŘǯś
 ynȱȱƽȱ řǯşȱƿȱŖǯśŚşynȬŗ     ŝǯŗ
 ynȱȱƽȱ ŘǯŘȱƿȱŖǯśŜŚynȬŗ     řǯş

0 MARCH 22, 2011 71.2

1 MARCH 26, 2011 39.8

2 MARCH 30, 2011 22.3

3 APRIL 3, 2011 12.5

4 APRIL 7, 2011 7.1

5 APRIL 11, 2011 3.9

6 APRIL 15, 2011 2.2

 STEP 3� )JYJWRNSJ�\MJYMJW�YMJ�ą�SNYJ�INKKJWJSHJX�TW�YMJ�WFYNTX�GJY\JJS�
XZHHJXXN[J�[FQZJX�TK�f(x) are approximately constant.

�Q ���ȱęȱ����ȱ��ěȱ�������ȱ�����ȱ��ȱ�����ȱ����ȱȮřŗǯŚȱ��ȱȮŗǯŝǯȱȱ����ȱ��ȱ�ȱ ���ȱ
�����ǰȱ��ȱ���ȱęȱ����ȱ��ěȱ�������ȱ���ȱ���ȱ����ȱ�����¡������¢ȱ��������ǯ

�Q ���ȱ������ȱ��� ���ȱ����������ȱ������ȱ��ȱf(xǼȱ�����ȱ����ȱŖǯśŚşȱ��ȱŖǯśŜŞǯȱȱ
�����ȱ������ȱ���ȱ���ȱ�����ȱ��������ǰȱ��ȱ���ȱ������ȱ��� ���ȱ����������ȱ
������ȱ��ȱf(xǼȱ���ȱ�����¡������¢ȱ��������ǯ

The set of data represents an exponential function, rather than a linear function, 
�������ȱ���ȱ��ěȱ�������ȱ��ȱ¡ȱ���ȱ��������ȱ���ȱ���ȱ������ȱ��� ���ȱ����������ȱ������ȱ
of f(x) are approximately constant.

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ ȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ ȱ ȱȱƿȱŖǯśŜŞ
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YOU TRY IT! #1 ANSWER:
���ȱ���ȱ��ȱ����ȱ����������ȱ�ȱ
linear function, rather than an 
�¡���������ȱ��������ǰȱ�������ȱ
���ȱę����ȱ��ě�������ȱ��ȱ¡ȱ���ȱ
��������ȱ���ȱ���ȱę����ȱ��ě��-
�����ȱ��ȱ�ǻ¡Ǽȱ���ȱ�����¡������¢ȱ
��������ǯ

ADDITIONAL EXAMPLE
Have students write the exponential function to match the data that was given in the 
exponential additional examples on pages 58 and 59.
��ǯȱśŞǱȱ�ǻ¡ǼȱƽȱŗǯŞşǻŗǯŘŚǼx

��ǯȱśşȱ�ǻ¡ǼȱƽȱŗśǻŖǯşǼx

60 c h a p t e R  1 :  a l g e B R a i c  pat t e R n s

YOU TRY IT! #1

�ȱ�����ȱ������ȱ��������ȱ���¢��Ȃ�ȱ�������ȱ��ȱ����������ȱ�������ȱ��ȱ��������ȱ��ȱ���ȱ�����ǯ

1-YEAR 
INTERVAL, x YEAR BATTING 

AVERAGE, f(x)

0 2009 0.213

1 2010 0.242

2 2011 0.271

3 2012 0.301

4 2013 0.330

5 2014 0.359

���������ȱ ������ȱ���ȱ������������ȱ��ȱ������ȱ��ȱ�¡���������ǯ
See margin.

EXAMPLE 2
���ȱ �����ȱ ���� ȱ ��� �ȱ ���ȱ �������ȱ��� ������ȱ ���ȱ ���ȱ �����ȱ�� �ǰȱ ��ȱ�������ȱ ��ȱ
����������ǯ

3-YEAR 
INTERVAL, x YEAR VIEWERSHIP, 

f(x)

0 1970 23,050

1 1973 27,670

2 1976 29,440

3 1979 35,090

4 1982 40,020

����ȱ������Ǳȱ�Ĵ�ǱȦȦ   ǯ�������ǯ���Ȧ��Ȧ��ǯ����

	�������ȱ ��ȱ �¡���������ȱ ��������ȱ �����ȱ ���ȱ �����ȱ �� �ȱ ��� ������ǯȱ 
� ȱ ���¢ȱ
����������ȱ����ȱ¢���ȱ�����ȱ�������ȱ ���ȱ ����ȱ���ȱ�����ȱ�� �ȱ��ȱ���ȱ¢���ȱŘŖŗŞǯȱ
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ADDITIONAL EXAMPLE
Alan purchased a new luxury car. He recorded the value of his car each year after his purchase in the table shown. 
Generate an exponential function model for the value of Alan’s car, in dollars. 

�����ȱ���ȱ�������ȱ�����ȱ��ȱŖǯŞşȱ��ȱę��ȱ¡ȱƽȱŖȱ��ȱ���ȱ�������ȱ ����ȱ������ǰȱ���ȱ��������ȱ ����ȱ��ȱ�ǻ¡ǼȱƽȱśŗşŖŝǻŖǯŞşǼxǯ

�����ȱ��ȱ¢���ȱ�����ǰȱ�� ȱ����ȱ��ȱ����Ȃ�ȱ���ȱ������������ȱ��ȱ�����ȱ����ȱ¢���ǵȱ
����Ȃ�ȱ���ȱ��ȱ����������ȱ�����ȱŗŗƖȱ��ȱ�����ȱ����ȱ¢���ǯȱ


� ȱ����ȱ���ȱ����ȱ��¢ȱ���ȱ���ȱ���ȱ���������¢ǵȱ
����ȱ����ȱǞśŗǰşŖŝȱ���ȱ���ȱ���ǯ

����ȱ ���ȱ���ȱ�����ȱ��ȱ����Ȃ�ȱ���ȱ��ȱ��ȱŗŖȱ¢����ǵ
�����ȱŗŖȱ¢����ǰȱ����Ȃ�ȱ���ȱ ���ȱ��ȱ ����ȱ�����ȱǞŗŜǰŗŞŜǯ

YEARS SINCE PURCHASE, x 2 3 4 5 6

VALUE (DOLLARS), f(x) 41,115 36,181 33,287 30,291 26,353
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 STEP 1� )JYJWRNSJ�YMJ�ą�SNYJ�INKKJWJSHJX�NS�x�[FQZJX�FSI�YMJ�WFYNTX�
GJY\JJS�XZHHJXXN[J�[FQZJX�TK�f(x). 

ǊxȱƽȱŗȱȮȱŖȱƽȱŗ

ǊxȱƽȱŘȱȮȱŗȱƽȱŗ

ǊxȱƽȱřȱȮȱŘȱƽȱŗ

ǊxȱƽȱŚȱȮȱřȱƽȱŗ

3-YEAR
INTERVAL, x YEAR VIEWERSHIP, 

f(x)

 ynȱȱƽȱ ŘŝǰŜŝŖȱƿȱŗǯŘŖynȬŗ     ŘřǰŖśŖ
 ynȱȱƽȱ ŘşǰŚŚŖȱƿȱŗǯŖŜynȬŗ     ŘŝǰŜŝŖ
 ynȱȱƽȱ řśǰŖşŖȱƿȱŗǯŗşynȬŗ     ŘşǰŚŚŖ
 ynȱȱƽȱ ȱŚŖǰŖŘŖȱȱƿȱŗǯŗŚynȬŗ     řśǰŖşŖ

0 1970 23,050

1 1973 27,670

2 1976 29,440

3 1979 35,090

4 1982 40,020

 STEP 2� (FQHZQFYJ�YMJ�F[JWFLJ�TK�YMJ�WFYNTX�FSI�ZXJ�YMNX�[FQZJ�KTW�YMJ�
base, b, in your exponential function model.

ŗǯŘŖȱƸȱŗǯŖŜȱƸȱŗǯŗşȱƸȱŗǯŗŚȱƿȱŗǯŗś
ȱ ȱ ȱ ȱ ȱ ȱȱȱȱȱȱȱȱŚ

 STEP 3� :XNSL�F��YMJ�NSNYNFQ�[NJ\JWXMNU�[FQZJ�KWTR�YMJ�YFGQJ��FSI�YMJ�
HFQHZQFYJI�[FQZJ�KTW�b, write an exponential function model.

f(xǼȱƽȱŘřǰŖśŖǻŗǯŗśǼx

 STEP 4 Use your exponential function model to predict the 2018 
[NJ\JWXMNU��NS�SZRGJW�TK�MTZXJMTQIX�

ŘŖŗŞȱȮȱŗşŝŖȱƽȱŚŞǰȱ��ȱ���ȱ������ȱ��ȱřȬ¢���ȱ���������ȱ�����ȱŗşŝŖǰȱxȱƽȱŗŜǯ

fǻŗŜǼȱƽȱŘřǰŖśŖǻŗǯŗśǼŗŜȱƿȱŘŗśǰŜşřǯŘ

According to the exponential function model f(x) = 23,050(1.15)x, approximately 
ŘŗśǰŜşřȱ����������ȱ ���ȱ��� ȱ���ȱ�����ȱ�� �ȱ��ȱ���ȱ¢���ȱŘŖŗŞǯ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ ȱ
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YOU TRY IT! #2 ANSWER:
�ǻ¡ǼȱƽȱǻŘǯŗŗřǼx; According to 
���ȱ�¡���������ȱ��������ȱ�����ǰȱ
�����ȱ ���ȱ��ȱ�����¡������¢ȱŞŚŖȱ
���������ȱ��ȱ���ȱ�����ȱ����ȱ��ȱ
���ȱ�����ȱ��¢ȱ��ȱ���ȱ�¡��������ǯ
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YOU TRY IT! #2
�ȱ���������ȱ������ȱ�ȱ������ȱ����������ȱ��ȱ�ȱ�����ȱ����ȱ��ȱ�������ȱ���ȱ����ȱ��ȱ����������ȱ
��� ��ȱ��ȱ����ȱ������Ȭ������ȱ��������ǯȱ���ȱ���������Ȃ�ȱ������������ȱ��ȱ���ȱ������ȱ��ȱ
���������ȱ��ȱ���ȱ�����ȱ����ȱ����ȱ����ȱ���ȱ��������ȱ��ȱ���ȱ�����ȱ���� ǯ

1-DAY 
INTERVAL, x

DAY OF 
EXPERIMENT

POPULATION, 
f(x)

0 1ST 1

1 2ND 2

2 3RD 5

3 4TH 10

4 5TH 22

5 6TH 44

6 7TH 87

	�������ȱ��ȱ�¡���������ȱ��������ȱ�����ȱ���ȱ���ȱ����������ȱ����������ǯȱ
� ȱ���¢ȱ
���������ȱ����ȱ¢���ȱ�����ȱ�������ȱ ���ȱ��ȱ��ȱ���ȱ�����ȱ����ȱ��ȱ���ȱ�����ȱ��¢ȱ��ȱ���ȱ
experiment?

See margin.

EXAMPLE 3
���ȱ����������ȱ��ȱ������������ȱ�����¢ǰȱ��¡��ǰȱ��ȱ����ȱ������ȱ�����ȱŗşśŖȱ��ȱ��� �ȱ
��ȱ���ȱ�����ȱ���� ǯ

10-YEAR 
INTERVAL, x YEAR POPULATION, 

f(x)

0 1950 3,618

1 1960 2,767

2 1970 2,205

3 1980 2,053

4 1990 1,880

5 2000 1,850

6 2010 1,641

Data Source: U.S. Census Bureau
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INSTRUCTIONAL HINTS
Problems like these take 
mathematical stamina and 
�Ĵ������ȱ��ȱ������ǯȱ
���ȱ
students write the steps 
they would use to write 
an exponential function 
from real world data. Then 
have students compare this 
writing to the steps they 
wrote in the last section for 
exponential functions with 
constant ratios. Finally, 
give students time to brief-
ly explain the steps to one 
or two other students. 
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���ȱ ���ȱ����ȱ ���ȱ ��ȱ��������ȱ��ȱ�¡���������ȱ�����ǯȱ���ȱ¢���ȱ�����ȱ ��ȱ�������ȱ ���ȱ
����������ȱ��ȱ������������ȱ�����¢ǰȱ��¡��ǰȱ��ȱ���ȱ¢���ȱŘŖŘŖǯȱ

 STEP 1� )JYJWRNSJ�YMJ�ą�SNYJ�INKKJWJSHJX�NS�x�[FQZJX�FSI�YMJ�WFYNTX�
GJY\JJS�XZHHJXXN[J�[FQZJX�TK�f(x). 

ǊxȱƽȱŗȱȮȱŖȱƽȱŗ

ǊxȱƽȱŘȱȮȱŗȱƽȱŗ

ǊxȱƽȱřȱȮȱŘȱƽȱŗ

ǊxȱƽȱŚȱȮȱřȱƽȱŗ

ǊxȱƽȱśȱȮȱŚȱƽȱŗ

ǊxȱƽȱŜȱȮȱśȱƽȱŗ

10-YEAR
INTERVAL, x YEAR POPULATION, 

f(x)

 ynȱȱƽȱ ŘǰŝŜŝȱƿȱŖǯŝŜśynȬŗ     řǰŜŗŞ
 ynȱȱƽȱ ŘǰŘŖśȱƿȱŖǯŝşŝynȬŗ     ŘǰŝŜŝ
 ynȱȱƽȱ ŘǰŖśřȱƿȱŖǯşřŗynȬŗ     ŘǰŘŖś
 ynȱȱƽȱ ŗǰŞŞŖȱƿȱŖǯşŗŜynȬŗ     ŘǰŖśř
 ynȱȱƽȱ ŗǰŞśŖȱƿȱŖǯşŞŚynȬŗ     ŗǰŞŞŖ
 ynȱȱƽȱ ŗǰŜŚŗȱƿȱŖǯŞŞŝynȬŗ     ŗǰŞśŖ

0 1950 3,618

1 1960 2,767

2 1970 2,205

3 1980 2,053

4 1990 1,880

5 2000 1,850

6 2010 1,641

 STEP 2� (FQHZQFYJ�YMJ�F[JWFLJ�TK�YMJ�WFYNTX�FSI�ZXJ�YMNX�[FQZJ�KTW�YMJ�
base, b, in your exponential function model.

ŖǯŝŜśȱƸȱŖǯŝşŝȱƸȱŖǯşřŗȱƸȱŖǯşŗŜȱƸȱŖǯşŞŚȱƸȱŖǯŞŞŝȱȱƿȱŖǯŞŞ
             6

 STEP 3� :XNSL�F��YMJ�NSNYNFQ�UTUZQFYNTS�[FQZJ�KWTR�YMJ�YFGQJ��FSI�YMJ�
HFQHZQFYJI�[FQZJ�KTW�b, write an exponential function model.

f(xǼȱƽȱřŜŗŞǻŖǯŞŞǼx

 STEP 4 Use your exponential function model to predict the 2020 
population.

ŘŖŘŖȱȮȱŗşśŖȱƽȱŝŖǰȱ��ȱ���ȱ������ȱ��ȱŗŖȬ¢���ȱ���������ȱ�����ȱŗşśŖǰȱxȱƽȱŝǯ

fǻŝǼȱƽȱřŜŗŞǻŖǯŞŞǼŝȱƿȱŗǰŚŝŞǯśş

���������ȱ ��ȱ ���ȱ �¡���������ȱ ��������ȱ�����ȱ �ǻ¡Ǽȱ ƽȱ řŜŗŞǻŖǯŞŞǼx, the population of 
������������ȱ�����¢ǰȱ��¡��ǰȱ ���ȱ��ȱ�����¡������¢ȱŗǰŚŝşȱ������ȱ��ȱ���ȱ¢���ȱŘŖŘŖǯ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱȱƽȱ

ȱƿȱŖǯŝŜś

ȱƿȱŖǯŝşŝ

ȱƿȱŖǯşřŗ

ȱƿȱŖǯşŗŜ

ȱƿȱŖǯşŞŚ

ȱƿȱŖǯŞŞŝ
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YOU TRY IT! #3 ANSWER:
�ǻ¡ǼȱƽȱŗşǯşǻŖǯşŚşǼx ; According 
��ȱ���ȱ�¡���������ȱ��������ȱ
�����ǰȱ�����¡������¢ȱŗŗǯŞƖȱ
��ȱ��������ȱ������ȱ ���ȱ�����ȱ
������Ĵ��ȱ��ȱ�ȱ����¢ȱ�����ȱ��ȱ���ȱ
¢���ȱŘŖŗśǯ

1. ��ȱ�¡���������ȱ�����ȱ
 ����ȱ��ȱ����ǲȱę���ȱ���-
�������ȱ������ȱ�����ȱ����ȱ
ŘŘǯśȱ��ȱŗŖŘǯŞŗŜǰȱ ����ȱ���-
�������ȱ�����ȱ������ȱ�����ȱ
����ȱŗǯŚȱ��ȱŗǯŝȱǻ�����ȱ
������ȱ���ȱ�����¡������¢ȱ
��������Ǽǯ

2.  A linear model would 
��ȱ����ǲȱ����������ȱ�����ȱ
������ȱ�����ȱ����ȱŖǯŝŝȱ��ȱ
ŖǯŞŞǰȱ ����ȱę���ȱ��ě������ȱ
������ȱ�����ȱ����ȱŘŚǯŞȱ
��ȱŘśǯŘȱǻ�����ȱ������ȱ���ȱ
�����¡������¢ȱ��������Ǽǯ

64 c h a p t e R  1 :  a l g e B R a i c  pat t e R n s

YOU TRY IT! #3

�����������ȱ��ȱ������ȱ��ȱ���ȱ������ȱ������ȱ ��ȱ�����ȱ������Ĵ��ȱ��ȱ�ȱ����¢ȱ�����ȱ���ȱ
��������ȱ��ȱ���ȱ�����ǯ

2-YEAR 
INTERVAL, x YEAR

PERCENTAGE 
OF AMERICAN 

ADULTS, f(x)

0 1995 19.9

1 1997 19.1

2 1999 18.0

3 2001 17.4

4 2003 16.9

5 2005 15.3

6 2007 14.5

Data Source: Center for Disease Control (CDC)

���ȱ ���ȱ����ȱ ���ȱ ��ȱ ��������ȱ ��ȱ �¡���������ȱ�����ǯȱ���ȱ¢���ȱ�����ȱ ��ȱ�������ȱ ���ȱ
����������ȱ��ȱ������ȱ��ȱ���ȱ������ȱ������ȱ ��ȱ�����ȱ������Ĵ��ȱ��ȱ�ȱ����¢ȱ�����ȱ��ȱ���ȱ
¢���ȱŘŖŗśǯȱ

See margin.

PRACTICE/HOMEWORK
���ȱ���������ȱŗȱ���ȱŘǰȱ���������ȱ ������ȱ�ȱ������ȱ�����ȱ��ȱ��ȱ�¡���������ȱ�����ȱ ����ȱ��ȱ
����ȱ�����������ȱ���ȱ���ȱ����ǯȱ�¡�����ȱ�� ȱ¢��ȱ����ȱ¢���ȱ��������ǯ

      See margin.           See margin.

1. x y
0 45

1 67.5

2 94.5

3 151.2

4 257.04

5 359.856

2. x y
0 209.5

1 184.6

2 159.6

3 134.4

4 109.6

5 84.5
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���ȱ���������ȱřȱȬȱśǰȱ���������ȱ���ȱ�������ȱ�����ȱ��� ���ȱ����������ȱ¢Ȭ������ǯȱ

      1.725

      0.5

      1.2  
  
���ȱ���������ȱŜȱȮȱŞǰȱ�������¢ȱ ������ȱ���ȱ����ȱ��� �ȱ�¡���������ȱ��� ��ȱ��ȱ�¡���������ȱ
decay. Then, determine an exponential function to model the situation.

SCIENCE

6. ���ȱ����������ȱ��ȱ���¢ȱ���������ȱ��ȱ�ȱ�����ȱ����ȱ���ȱ����ȱ��������ȱ����¢ȱ¢���ȱ
�����ȱŘŖŖśǯ

1-YEAR 
INTERVAL, x YEAR

SQUIRREL 
POPULATION, 

y

0 2005 62

1 2006 87

2 2007 113

3 2008 170

4 2009 204

5 2010 265

Exponential growth; as time passes, the squirrel population increases.
y = 62(1.34)x, where x represents the number of years since 2005    

3. x y
0 425.6

1 766.08

2 1225.73

3 2083.74

4 3750.73

4. x 0 1 2 3 4 5 6
y 2300.6 1173.31 586.65 287.46 137.98 70.37 36.59

5. x 0 1 2 3 4
y 1810.4 2172 2389.2 3105.96 3727.15
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7. �¡���������ȱ��� ��ǲȱ��ȱ
����ȱ������ǰȱ���ȱ�����ȱ��ȱ
���ȱ��������ȱ���������ǯ

 �ǻ¡ǼȱƽȱŘŘŖŖǻřǯřşǼx, where 
¡ȱ����������ȱ���ȱ������ȱ
��ȱŗŖȬ¢���ȱ���������ȱ�����ȱ
ŗşŜŖǯ

8. �¡���������ȱ����¢ǲȱ��ȱ
trials numbers increase, 
���ȱ������ȱ��ȱ�������ȱ
���������ǯ

 �ǻ¡ǼȱƽȱŜŗǻŖǯśřǼx, where x 
����������ȱ���ȱ�����ȱ 
number

66 c h a p t e R  1 :  a l g e B R a i c  pat t e R n s

FINANCE

7. 
������ȱ�������ȱ����ȱ���ȱ��������ȱ��������ȱ��ȱ�ȱ������ȱ���ȱ����ȱ����������ȱ��ȱ
�����ȱ����ȱ���ȱ¢����ǯȱ���ȱ��������ȱ�����ȱ��ȱ���ȱ��������ȱ��ȱ��� �ȱ��ȱ���ȱ�����ǯ

10-YEAR 
INTERVAL, x YEAR VALUE OF THE 

PAINTING, f(x)

0 1960 $2200

1 1970 $7500

2 1980 $25,000

3 1990 $86,000

4 2000 $292,000

5 2010 $992,000

See margin.   

SCIENCE

8. ���ǯȱ���������¢Ȃ�ȱ�����ȱ��ȱ�����ȱ��ȱ�¡��������ȱ ���ȱ�������ǯȱ���¢ȱ����¢ȱ�ȱ
���ȱ��ȱ�������ȱ����ȱ�ȱ�����ǰȱ���ȱ������ȱ���ȱ���ȱ�������ȱ����ȱ������ȱȃ�����Ȭ��ǯȄȱȱ
����ǰȱ���¢ȱ���ȱ���ȱ�����ȱ�������ȱ����ȱ��ȱ���ȱ���ǰȱ���ȱ������ȱ���ȱ�������ȱ����ȱ
����ȱ�����ǯ

TRIAL 
NUMBER, x

NUMBER 
OF PENNIES 

REMAINING, ę¡)

0 61

1 28

2 16

3 9

4 7

5 2

See margin.
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10. ���ȱ¢Ȭ���������ǰȱǞŘşǰŞŝŖǰȱ
����������ȱ���ȱ�����ȱ��ȱ���ȱ
���ȱ ���ȱ�����ȱ���������ȱ
��ȱ��ȱŘŖŖŝǯȱ

 ���ȱ����ǰȱŖǯŞřśǰȱ��ȱŞŚƖȱ
�����ȱ����ȱ���ȱ�����ȱ��ȱ���ȱ
���ȱ��ȱŞŚƖȱ��ȱ���ȱ�����ȱ���ȱ
��������ȱ¢���ǯ

11. �ǻ¡ǼȱƽȱŘşǰŞŝŖǻŖǯŞřśǼx = 
śşŖŖǰȱ¡ȱƿȱşȱ¢����ǲȱ 
ŘŖŖŝȱƸȱşȱƽȱŘŖŗŜǯ

 ���������ȱ��ȱ���ȱ�¡�����-
tial function model, the car 
 ���ȱ��ȱ ����ȱ�����ȱǞśşŖŖȱ
��ȱ���ȱ¢���ȱŘŖŗŜǯ

12. 2020 – 2007 = 13, so the 
number of years since 
��������ǰȱ¡ȱƽȱŗřǯȱȱ

 �ǻŗřǼȱƽȱŘşǰŞŝŖǻŖǯŞřśǼ13 ƿȱ
ǞŘŞŜśǯŘŖ

 ���������ȱ��ȱ���ȱ�¡�����-
tial function model, the car 
 ���ȱ��ȱ ����ȱ�����ȱǞŘŞŜśȱ
��ȱ���ȱ¢���ȱŘŖŘŖǯȱ

 �����ȱ���ȱ����ȱ��ȱǻŖǯŞŚǼǰȱ
the car would be worth 
ǞřŖşŜȱ��ȱ���ȱ¢���ȱŘŖŘŖǯ
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���ȱ���������ȱşȱȮȱŗŘȱ���ȱ���ȱ����� ���ȱ���������ǯȱ

FINANCE

����ȱ����ȱ��������ȱ��ȱ�����ȱ����ȱ����ǯȱ���ȱ�����ȱ���� ȱ��� �ȱ���ȱ�����ȱ��ȱ�����Ȃ�ȱ���ȱ
����ȱ���ȱ����ȱ��ȱ���ȱ��������ǯ

1-YEAR 
INTERVAL, x YEAR VALUE OF 

CAR, f(x)

0 2007 $29,870

1 2008 $24,180

2 2009 $20,480

3 2010 $17,420

4 2011 $14, 585

5 2012 $12,124

9. ���ȱ���ȱ����ȱ���ȱ��ȱ��������ȱ��ȱ�¡���������ȱ�����ǯȱȱȱ
f(x) = 29,870 (0.84)x;  where x represents the number of years since the 
car was purchased in 2007

10. ����ȱ��ȱ���ȱyȬ���������ȱ���ȱ����ȱ����ȱ¢���ȱ��������ȱ����ȱ����ȱ��ȱ�����¡�ȱ��ȱ
���ȱ���������ǵȱȱȱ
See margin.

11. ��ȱ ���ȱ¢���ȱ ���ȱ���ȱ���ȱ��ȱ ����ȱ�����ȱǞśşŖŖǵ
See margin.

12. ���ȱ¢���ȱ�����ȱ��ȱ�������ȱ���ȱ�����ȱ��ȱ�����Ȃ�ȱ���ȱ��ȱ���ȱ¢���ȱŘŖŘŖǯȱ
See margin.
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15. �ǻ¡ǼȱƽȱřŗŖǻŗǯŖŞǼx = 1000;  
¡ȱƿȱŗśȱ ����

 ���������ȱ��ȱ���ȱ�¡��-
nential function model, 
����ȱ ���ȱ����ȱ����ȱŗǰŖŖŖȱ
�������ȱ��ȱ�����ȱŗśȱ ����ǯȱ

16. �ȱ¢���ȱ��ȱśŘȱ ����ǲȱ 
�ǻśŘǼȱƽȱřŗŖǻŗǯŖŞǼx;   
¡ȱƿȱŗŜǰşśş

 ���������ȱ��ȱ���ȱ�¡�����-
tial function model, Ella 
 ���ȱ����ȱ�����ȱ�����ȱŗŜǰşśȱ
�������ȱ��ȱ�ȱ¢���ǯȱ

68 c h a p t e R  1 :  a l g e B R a i c  pat t e R n s

���ȱ���������ȱŗřȱȮȱŗŜȱ���ȱ���ȱ����� ���ȱ���������ǯȱ
FINANCE
����ȱ�����ȱ����ȱ�������ȱ���ȱ�������ȱ��ȱ�����ȱ���������ȱ����ȱ��ȱ���ȱ��������ȱ������ȱ��ȱ
��������ȱ���ȱ�����ǯȱ���ȱ�����ȱ��� �ȱ���ȱ�����ȱ������ȱ��ȱ�������ȱ���ȱ���ȱ����ǯ

NUMBER OF 
WEEKS SINCE 
MARKETING 

ON THE 
INTERNET, x

TOTAL 
NUMBER OF 

RIBBONS 
SOLD, f(x)

0 310

1 336

2 365

3 388

4 425

5 445

6 496

13. ���ȱ���ȱ����ȱ���ȱ��ȱ���������ȱ��ȱ�¡���������ȱ��������ȱ����ȱ������ȱ���ȱ���������ǯȱ
f(x) = 310(1.08)x;  where x represents the number of weeks since she 
started marketing her ribbons on the internet.

14. ����ȱ��ȱ���ȱyȬ���������ȱ��ȱ����ȱ��������ǰȱ���ȱ ���ȱ����ȱ��ȱ����ȱ��ȱ�����¡�ȱ��ȱ���ȱ
�������ǵ
The y-intercept, 310, represents the number of ribbons Ella had sold be-
fore she started marketing on the internet.

15. ���ȱ¢���ȱ��������ȱ�����ȱ��ȱ���������ȱ�����¡������¢ȱ�� ȱ���¢ȱ ����ȱ��ȱ ���ȱ
����ȱ��ȱ����ȱŗǰŖŖŖȱ�������ǯ
See margin.

16. ���ȱ¢���ȱ��������ȱ�����ȱ��ȱ�������ȱ�� ȱ���¢ȱ�������ȱ����ȱ ���ȱ����ȱ��ȱ�ȱ¢���ǯ
See margin.

���ȱ���������ȱŗŝȱȮȱŘŖȱ���ȱ���ȱ����� ���ȱ���������ǯȱ

SCIENCE

�ȱ���������ȱ��ȱ���������ȱ���ȱ����������ȱ
��ȱ�ȱ�������ȱ��������ȱ��ȱ�ȱ�����ȱ����ǯȱ
�ȱ
����������ȱ ���ȱ ������ȱ ��ȱ ��������ȱ ��ȱ
���ȱ����ȱ����¢ȱŘȱ�����ǰȱ��ȱ��� �ȱ��ȱ���ȱ
�����ȱ���� ǯ
17. ����ȱ����ȱ����ȱ��� ȱ�¡���������ȱ

��� ��ȱ��ȱ�¡���������ȱ����¢ǵȱȱȱ�¡-
�����ǯ
Exponential growth; as time in-
creases, the number of bacteria 
increases 

2-HR 
INTERVAL, x

NUMBER OF 
HOURS

NUMBER OF 
BACTERIA, f(x)

0 0 8

1 2 12

2 4 17

3 6 24

4 8 34

5 10 50
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19. 1 day is 24 hours, which is 
ŗŘȱŘȬ��ȱ���������ǲȱ¡ȱƽȱŗŘǲȱȱ
�ǻŗŘǼȱƽȱŝŘǻŖǯŚŗǼ12ȱƿȱŜřŜȱ
bacteria

 ���������ȱ��ȱ���ȱ�¡�����-
tial function model, there 
will be about 636 bacteria 
�����ȱŗȱ��¢ǯȱ

20. �ǻ¡ǼȱƽȱŞǻŗǯŚŚǼx = 451,000; 
¡ȱƿȱřŖǰȱ���ȱřŖȱŘȬ��ȱ�����-
����ȱ�����ȱ��ȱŜŖȱ�����ǰȱ��ȱ
Řǯśȱ��¢�

 ���������ȱ��ȱ���ȱ�¡�����-
tial function model, there 
will be 451,000 bacteria in 
�����ȱŘǯśȱ��¢�ǯȱ

23. �ǻŗŖǼȱƽȱŗŞǻŗǯŗǼ10ȱƽȱŚŜǯŝǲȱȱ 
¡ȱƿȱŚŜǯŝȱ�����ȱȱȱ

 ���������ȱ��ȱ���ȱ�¡��-
nential function model, 
���ȱ������ȱ���ȱ�����ȱŚŜǯŝȱ
�����ȱ��ȱ ���ȱŗŖǯ

24. �ǻ¡ǼȱƽȱŗŞǻŗǯŗǼx = 65;   
¡ȱƿȱŗŚȱ ����ȱ

 ���������ȱ��ȱ���ȱ�¡�����-
tial function model, she 
should reach the goal of 65 
�����ȱ��ȱ ���ȱŗŚǯ
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18. ��ȱ����ȱ�����ǰȱ��ȱ�������ȱ����������ȱ��ȱ�����ȱ���ȱ���ȱ��������ǰȱ��ȱ��ȱ��������ȱ��ȱ
��������¢ǯȱ���ȱ���ȱ����ȱ���ȱ��ȱ��������ȱ��ȱ�¡���������ȱ�����ǯȱ
f(x) = 8(1.44)x;  where x represents the number of 2-hour time intervals 

19. ���ȱ¢���ȱ�¡���������ȱ�����ȱ��ȱ���������ȱ�����¡������¢ȱ�� ȱ���¢ȱ��������ȱ
 ���ȱ��ȱ��ȱ���ȱ�����ȱ����ȱ�����ȱŗȱ��¢ǯ
See margin. 

20. �����¡������¢ȱ�� ȱ���¢ȱ��¢�ȱ ���ȱ������ȱ������ȱ�����ȱ���ȱŚśŗǰŖŖŖȱ��������ǵ
See margin. 

 
���ȱ���������ȱŘŗȱȮȱŘŚȱ���ȱ���ȱ����� ���ȱ���������ǯȱ

CRITICAL THINKING

����ȱ����¢�ȱ�������ȱ���ȱ�¡������ǯȱ���ȱ���ȱ�������ȱ�ȱ��������ȱ����ȱ����ȱ ���ȱ��������¢ȱ
��������ȱ���ȱ ����¢ȱ�������ȱ��ȱ���ȱ��������ȱ���ȱ�ȱ����Ȭ��������ǯȱ���ȱ�����ȱ��� �ȱ���ȱ
��������ȱ����ǯ

NUMBER OF 
WEEKS, x

MILES PER 
WEEK, f(x)

0 18

1 20

2 22

3 24

4 26.5

5 29

6 32

7 36

21. �����ȱ���ȱ����ȱ�����ȱ�����ǰȱ��������ȱ��ȱ�¡���������ȱ��������ȱ����ȱ������ȱ���ȱ
���������ǯȱ
f(x) = 18(1.1)x;  where x represents the number of weeks on the training 
plan

22. ����ȱ��ȱ���ȱ�������ȱ��������ȱ��ȱ���ȱ�������ȱ����ȱ ���ȱ��ȱ ���ȱ��ȱ���ȱ����ǵ
b = 1.1 is the average ratio; the 0.10 in this value indicates an increase of 
10% each week.

23. ���������ȱ��ȱ¢���ȱ�����ǰȱ�� ȱ����ȱ������ȱ����ȱ���ȱ��ȱ ���ȱŗŖȱ��ȱ���ȱ�����-
���ȱ����ǵ
See margin.

24. ��ȱ���ȱ��������ȱ����ȱ������ȱ���ȱ�������ȱ��ȱŜśȱ�����ȱ���ȱ ���ǰȱ ���ȱ������ȱ���ȱ
�����ȱ����ȱ����ǵ
See margin.


